NOTICE DE MONTAGE - INSTALLATION INSTRUCTIONS
a AA K Arriére court / support de plaque Triumph Scrambler 1200 X- XE - XC

Rear Fender Eliminator Kit / Short rear / plate holder - Triumph Scrambler 1200 X- XE - XC

Difficulté - Difficulty: 1/5
Outils nécessaires - Tools required for assembly

- Clefs 6 pans - clefs Torx - outillage standard Allen keys - torx keys - classic tools

Démonter la selle, débrancher le faisceau du garde-boue, puis démonter le passsage de roue ainsi que le garde-boue
arriere.

En vous adidant de la vue éclatée ci-dessous, installer votre nouveau passage de roue ainsi que le support de plaque,
puis & I'aide du faisceau fourni, brancher le feu arriere, la veilleuse et vos clignotants.

Disassemble the seat, disconnect the fender wiring harness, then remove the wheel arch and the rear fender.
Using the exploded view below, install your new wheel arch as well as the license plate support, then using the wiring
harness provided, connect the rear light, the pilof light and your indicators.

) Rondelle Mé-L Passage de roue
Ecrou frein Mé Washer Mé-L Wheel arch
Lock nut Mé

Entretoise 10mm
Spacer 10mm

Entretoise 4,5mm
Spacer 4,5mm

Vis M4x12
Screw M4x12

?e_LlJlgrrr]i;‘are Vis Mé6x30
ail Screw Méx30

Rondelle Mé-M
Washer M6-M

Vis Méx25
Screw Méx25

Vis Méx14
Screw Méx14

Rondelle M4
Washer M4

Ecrou frein M4
Lock nut M4

Support de plague
Licence plate holder

Merci d’avoir choisi les accessoires BAAK | Thank you for choosing BAAK parts
COPYRIGHT ® 2021 - BAAK MOTOCYCLETTES - TOUS DROITS RESERVES | COPYRIGHT ® 2021 - BAAK MOTOCYCLETTES - ALL RIGHT RESERVED




	Notice client éclaté
	Vue de mise en plan27


